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, 1 yz er2
fxeX dx=§jydyzz+c= 2 +c
dx
6) fx Inx
y = Inx x4
1
y=In(x) =dy = ;dx
dx d
j :j—y=2ﬁ+c=2\/1nx+c
xVInx \/;
Dbt o !
1) [x3Inxdx
Zcqby,
1
u=Inx=u =-dx
X
3 x*
I — d = —
vV =x’dx=v 2
[ x3Inxdx = Xnx_ = [x3dx = LI
4 16
2) [x(x+ D*dx

u=x=u =dx
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(x+ 1)°
5

vV=+Ddx=>v=

4 3y —
jx(x+1) dx = x c c =X z

3y [(x*+1)e*dx

u=x%+1=u = 2xdx

v = e¥dx = v = ¥

j(x2 +1)eXdx = (x> + 1) eX—2 j xe*dx

(X+1)5—f(x+1)5dx— (x+1)5_(x+1)6+c

30

A4 azyenis Bl xeXdx il ile(Ss

jxexdx = xeX — j eXdx = xe* — e*

j(x2 + 1) eXdx = (x2 + 1) e¥ — 2xe* + 2eX + ¢
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